
Percentagem

% =
1

100

2 = 2× 100× 1

100
= 2× 100×% = 200%

5% = 5× 1

100
= 0.05

Variação absoluta

4m = mf −mi

Variação relativa

4m

mi
=

mf −mi

mi
=

mf

mi
− 1

mf

mi
= F factor

xi = 5, xf = 10

4x = 10− 5 = 5

4x

xi
=

5

5
= 1 = 1× 100× 1

100
= 100%

xi = 5, xf = 6

4x

xi
=

1

5
=

1

5
× 100× 1

100
= 20%

xi = 6, xf = 5

4x

xi
=
−1
6

= −1

6
× 100× 1

100
= −17%

Proporção directa

y = 2x

Linear

y = 2x+ 1

Ordem de grandeza

2 ∼ 100

20 ∼ 101

9 ∼ 101

2 = 2× 100

Mantissa M

1 ≤M < 10
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100 ≤M < 101

234 = 2.34× 100 = 2.34× 102

2 = 2× 100 ∼ 100

valor crítico

100.5 × 100

100.5 =
√
10 = 3.16

4234 = 4.234× 103 ∼ 101+3 = 104

100.5 ' 101

100.4 ' 100

2552 = 2.552× 103 ∼ 103

0.00049 = 4.9× 10−4

4.9 = 4.9× 100

0.49 = 4.9× 10−1

0.049 = 4.9× 10−2

0.0049 = 4.9× 10−3

0.00049 = 4.9× 10−4 ∼ 10+1−4 = 10−3

2.58 = 2.58× 100 ∼ 100

0.07 = 7× 10−2 ∼ 10−1

diferença

0− (−1) = 1

1.2× 10−3

4.8× 10−5
∼ 10−3

10−4
= 101

70
bats

min

75 anos
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70
bats

���min
× 60���min

1 Ah
× 24 Ah

1��dia
× 365��dia

1��ano
× 75��ano

∼ 102 × 102 × 101 × 103 × 102 = 1010

Número de células no corpo humano

Vc = 2000 µm3

V = 70 L

prefixos
deci - 10−1

centi - 10−2

micro - 10−6

N =
V

Vc
=

70 dm3

2000 µm3 =
70× 10−3 m3

2000× 10−18 m3

Conversão de L para m3:

1 L = 1 dm3 = 1 (dm)
3

1 (dm)
3
= 1

(
10−1m

)3
10−3 m3

Conversão de µm3 para m3:

1 µm3 = 1 (µm)
3

1 (µm)
3
= 1

(
10−6m

)3
10−18 m3

Ordem de grandeza

N =
7.0× 10−2 m3

2.000× 10−15 m3 ∼
10−1

10−15
= 1014

3


